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(10 pts) Find the general solution of the differential equation: e”siny—2x+(e"cos y+1)y'=0.
(Hint: find the exact differential equation first)

(10 pts) Find the general solution of the differential equation for x>0: " —Ey'+izy =x+1.
X T

(Hint: the second order differential equation is an Euler’s equation)
(10 pts) Solve the initial value problem: y"—-y'-2y= 2c0s’x; y(H)=1, y'(1)=0.
(10 pts) Use the Laplace transform to solve the equation: f(1)=—1+/-2 L’ f(a)sin(t —a)da.

2

2t 0<r<3
[-2¢=3¢% 123

(10 pts) Find the Fourier series of f(f)=1+/ ontheinterval -~ <r<7.

(10 pts) Find the Laplace transform of f(¢) = {

-2 1 1
(10 pts) Find the determinant and inverse matrix of A= 0 1 1
-3 0 6
4 -2 3 10 1 %
(15pts)Let A=|1 0 0 -3|; B=|8|; X=|: | (a) find the reduced form of [4:B], (b)
2 =3 0 1 16 X,

find a basis for the row space of A, the rank of 4, and the rank of augmented matrix [4:B] , (c)

find the general solution of AX = B. [Note: please show the general solution by matrix form]

3 -18 x, (1
(15 pts) Let A= E 5 };X(t) = { & (([))} (a) find eigenvalues and eigenvectors of A, (b) find

|
the fundamental matrix () for the system of differential equations X' = AX, (c) find the

general solution of X =AX
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7 =18 kN/m’
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5. 2B CHrm ' —REA3ImM Z4&% A d(strip footing) EMMEAT 1.Sm & » AT A —
MR EBCL) M T AN SR AR E TR - b2 LB A M40 T  BLEME
Y =18.2(kN/m3) C e B Ey, = 20.1(kN/m3) fpAots b2 G E B KR T Q=52
(KN/m?) = 3R 34 Terzaghi % S o A A7 2 st b 4 20 A off 2 7848 AT (net ultimate
bearing load) » @/, =? (kN/m) (:£:40 8 C > A &K IR/ZE 0.5m - 34k + ¥ {1 Fyc=24 kN/m?)
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6. 2EB DA —BERABLBUANDLE P LB AL T LEERE
Yo =180(KN/M’) > ¢'=0 » §'=35° « Fob o RSB LBMZIT A4 =220 f§ i Fn
Fy =240(KN/m”) - RE AT R (i) Ltz me LBAZEHARN=2[12
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¢ -35°
¢ =0
| T
>l k>
Im  3.4m

B D



mailto:t~@J%!-:.zrM

% i " 7 m
BINLEMBHRSE 102 B4R RAT BER
IR EE R EHRRAFHGE e BasH

J

=

~ O\ W

\i .

EFEMRSEEOESE » ARELIR A ~ B TR AR[AIEINS i 15058
JIFHRIY 18 LT » BEtI i A ~ B TR EZ il Bt - Fllg
hu:i}nM'U MFE#&R D (15%)

‘A [32 }37 35 28 74I 44 [35 _r3l ‘34

J | i |
B |35 J 31 |20 |25 |34 |40 |27 |32 |31
Fa=005/KHE N 50 A - B WAk i e A B 2 B - T R

ST

HEHTHIARGH & ~ ZWEh e DEE BBCE SRR - BRI '%Utt.?"'f'-}iih';a

500 (T ELHE T 80 {78 I ST pEE: - (] ZHBFTHtiLL) 400I HE [
1116 {7388 [ FF B » FRASTEAETEHRRERE 0.025 F %‘Azfﬁﬁ,z!f!ﬂ

Ml B S R B LE P @i ZHNE 2 (10%)

fif e 47, 2]

(1) R ] B ,{-,‘.ﬁ %)

(2) —HEEGY

(2) Conlractor(S%)

(4) PCM(3%)

(5) CPM(3%)

SRR I R |T’n§hf JE 76 A AT - (10%)

""fzrilwm {z\n,{ 1uf 'IJJ 15%)

LR AR f<'< < (15%)

v

AINERERE ( 20%)




B T OHEHE

2 g

B EMRHRARR 102 BEE
ELIEEELAREAREEAAE M

RAT - BER

BEEHE

TABLE T CLMULATIVE PROBABUJITIES FOR THE STANDARD NORMAL

DISTRIBUTTION

Cumulative

probability Entrics in the table
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1. Executive support system (4 %)
2. Impression management (4 4
3. Benchmarking (4 %)

4. Bounded rationality (4 %)

5. Path Dependence (4 %)

=~ FER (£ 80 )
1. BREH MR TEBAEENE  CIZALBABRGHAANEARETEHAE
(Skills) = (10 4
2. MW E LS TIP P TAEE A 2 BUR £ 12 (Risk Management) 74 © (10

)
3. MIRBEFASRMAE > AL RALME R LK 88 (Matrix) 4225 o
(10 )

4. %58 & E 12 2% (Classical Management Perspective) &) dy K R ] #3 25 »
Ittt KELBE &Y MR L5 - (20 )

3% 5| b &g 48 A (Classical Decision Model) & = AR 3% > L3R AR M A
& (rational decision making)#| & &) % 8% - (30 %)

(4]
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HFRAB ZBEHRE  FaITESEZ KR -

BR—& 4% A48 Sem & 15 cm v 47 K EEIRER BT - FLIE % (porosity) & 60% @ #8K
BAE A 30 cm e £ S HPRLERKE 40 cm’ 0 REB A A 20T » REK L2 B EGH
(hydraulic conductivity) & %7k ik & (seepage velocity) o [14 4]

WiEIF 4R E ZELRE EEGE0E2m Amsb kit 4 KT 5% a0 & 40%:-
WET2Z254m Atmsi B 5KE 2% K&k FTImAE A T2 2 3mEE
B VA miktedo - AT S4Z210m AFLE  5KE 28% - 2 G, =27 XKk& L
RzBME Mt BELAPEEA2 -3 -S4RI0mAEZTFHEESN - FHAENARIL
MAKRA > BB AT EMEEZZEIL - [26 o]

A—t4 0 BATSmm E20mm - BRA 10m B2+ R A LTHOSHAKZEE
RP BATHEE 15 2483 SO%REE - ZFREHKENE Lz BRERAAE Kt
ERMIOm B2+ RESVIEMESO%NRERA? £RLAEAHK  RKES D
BrflE M RERZ 7 [10 4]

EFHRRBe TR KERT RS R T
Rk | EGEAN oy (kPa) | BIRFAA u(kPa) |
1 | 100 100 f
2 200 150 |
WA BMEEZ A HBREA () BEBBIRA () BE? B LIEL BT B EH
Kk EHNOEXERN (03) BS50kPass Rz ZAAKEREAN (o)) B ?
EHIRERRAERANFTOZRABF? [16 o]

T BERRT AR FEH KKK (CD) BEAR#PARE (CU) UARERER
KRB (UU) - FM L R A R OR A £ E 7 =R RRAERE ZIRIE
MEFAARE?  [9 ]

LM AR ELRA Y FRABLLEES (o0) EHLER N (0,) > HHKE
tBA(0,) PHERNERE FY  RAXTHLERALB LIRS MEHLE
A#HBLEBARZES - [10 5]
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10 961 | 269 056

1 1016 | 298 069

#1 A & MR (infinite slope) 42 > W ¥ kA GF A2 8 XK 2| et | 339 | oss
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15 12 80 445 152
KA R A2 BB AR A (00) EMRE?ER o e e T
5 17 1960 | 545 | 218
ARG - [S4] A e el
19 16 56 o 3
17 o9 744 ‘ Jod
21 1892 | 826 | 43
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